Name:

June 26, 2022

MATHS WORKSHEET Fj} SATS

GEMERATOR

Sr: 26062022-2723

11-PLUS
3.0
{-iﬂ)

GCSES

1) 2) Solveby factorising 3) Solveby factorising
x2+8x+12=0 x2+8x+12=0
Answer: Answer: Answer:
4) 6/, x 5) / 6) 41 x 1000
A B =42
Find the Angle at side A.
Answer: Answer: Answer:
7) 2 1/19 -10 3/11 8) A number is chosen at random from 1 9) Round 19.772 to 2 significant figures.
to 50. Find the probability of selecting
multiples of 15 and 11.
Answer: Answer: Answer:

10) Solve6j2-11j-14=0
Round your solutionsto 1 decimal

11) Anamount was decreased by 10.8%
to $271.00. Find the original amount.

12)  What would you multiply by to
increase an amount by 15%7?

Answer:

Answer:

place.
Answer: Answer: Answer:
13) 14) Anamount was decreased by 10% to 15) Solve7j2+13j-10=0
23_4~ $477.00. Find the original amount. Round your solutions to 1 decimal
place.
Volume of Cone
23

Answer:
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16) $480.00 earning 3.6% compound

17) $463.00 earning 6% compound

18)  24x 1000

74,74, 74, 74, 86, 86, 86, 86, 86,
86, 78, 78, 78, 78, 78, 78, 78, 86,

12:34. The smaller share was 54.
What was the total amount shared?

interest for 4 years. interest for 9 years.
Answer: Answer: Answer:
19)  Findthemodeof thefollowing set of data: 20) A number was shared in the ratio 21) Round 17.52882092 to the nearest

whole number.

86, 86
Answer: Answer: Answer:
22) Find area of 23) Find perimeter of 24) Find perimeter of
b rectangle having b rectangle having b rectangle having
sidesa= 933 ft sidesa= 897 ft sidesa=814in
a and b = 932 ft a and b = 681 ft a andb=6911in
Answer: Answer: Answer:

25) Factorise 4x2 + 7x + 3

Answer:

26) Anamount was decreased by 2% to
$28.00. Find the original amount.

Answer:

27)  Increase 99 by 48%

Answer:

28) Solve13x2-3x-2=0
Round your solutionsto 1 decimal
place.

Answer:

29) Find the range of the following set of data:

3,03,6,-06,12,18,5,1

Answer:

30) Write7x 101 asanormal number.

Answer:
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31) %gg Of 174 32) 33) Decrease274 by /4,
Find the next three numbersin
the sequence
36,34,51,49,66,64,81 , ,
Answer: Answer: Answer:
34) 71% of 26 35) Solve8g?-7q-3=0 36) Round 27.38 to the nearest 10
Round your solutionsto 1 decimal
place.
Answer: Answer: Answer:
37) Find area of 38) 39) 1 g 0f 234
b rectangle having Find Volume of
sidesa=694in Cylinder
a andb=129in
Answer: Answer: Answer:
40) Find perimeter of 4])  Findtherange of the following set of data: 42) Find the value of 'j' by completing the
b rectangle having -17, 12 square of the following equation: 2 +
sidesa=954in 4 +4
a andb=903in
Answer: Answer: Answer:

43) Solve10d?+6d-8=0 44)  Factorise 8q2 + 44q + 20 45) .
Round your solutionsto 1 decimal Find the next three numbersin
place. the sequence

0112358 , ,
Answer: Answer: Answer:
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46) 8463+ 217

Answer:

47)  Round 4.647 to the nearest whole
number.

Answer:

48) Anamount was increased by 4% to
$363.00. Find the original amount.

Answer:

49)  Round 21.3 to the nearest 1000

50)  33x49.7

51) Incresse222by Y/,

Answer: Answer: Answer:
52) 1000 - 767 53) Find perimeter of 54)  What would you multiply by to
triangle decrease an amount by 20%?
b ¢ a=604ft, b=936
ft,
a c = 951ft
Answer: Answer: Answer:
55)  119.1- 816 56) 8x 100 57) 3/, Of 168
Answer: Answer: Answer:
58) A number was shared in the ratio 59) 60)
14:28. The smaller share was 11. 30 Find Volume of 30 Find Volume of
What was the total amount shared? Cylinder Cylinder
Answer: Answer: Answer:
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61) 234 = (-26) 62) Find the range of the following set of data: 63) 1 /
-20,-0.6,5,0.3,0 81 4
Answer: Answer: Answer:
64) A number is chosen at random from 65) Bx7Hx(@x3Y 66) ex7Hx(1x3Y
1 to 50. Find the probability of
selecting number less than 13.
Answer: Answer: Answer:

67) Simplify 14:13 68) (6x 19 +(9x19) 69) A number was shared in theratio
9:1. The smaller share was 20. What
was the total amount shared?

Answer: Answer: Answer:

70) 71) 481+ 13 72) 23x 10

Find Volume of
Hexagonal Pyramid
/24
Answer: Answer: Answer:

73) 12% of 16 74)  Round 21.1994 to the nearest 100 75) \

A =47 B
Find the Angle at side B.
Answer: Answer: Answer:
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76) \

A=47 B
Find the Angle at side B.

77) Round 25.389400 to 2 significant
figures.

78) Solveld?+19d-3=0
Round your solutionsto 1 decimal
place.

Find the Angle at side B.

Answer:

Answer:

Answer: Answer: Answer:

79) 80) Factorise 82+ 11s+ 3 81) Convert the following improper
fraction 195/, + 4%, 5 into a mixed
number

A =56 B

Answer:

82) Increase 22.9 by 50%

83) Share 56 in the ratio 29:27

84) (1x 65) + (1 x 10%)

to 90

Answer:

Answer:

Answer: Answer: Answer:
85)  Write 3x 109 asanormal number. 86)  Findthemean of the following set of data: 87) Find the percentage change from 15
30,0.3,0.3,18,0.1 t0 90
Answer: Answer: Answer:
88) Find the percentage change from 15 89) 3276+ 312 90)  Findthemeanof the following st of data

17,1,0.6,04,39,0.2,04,0.1

Answer:
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1 to 50. Find the probability of
selecting even number.

91) A number ischosen at random from

Answer:

92) 2400+ 100

93) Convert the following improper
fraction 1720/, + 13%, into a mixed
number

Answer: Answer:
94) Round 4.370309004 to 7 significant 95) Increase 26 by 4/ 13 96)  Findthemean of the following set of data
figures. 0.1, 34, 26, 10
Answer: Answer: Answer:
97) 880 x 382 98) o =2, 99) Simplify 17:6
Answer: Answer:

Answer:

100) \

A =47
Find the Angle at side B.

Answer:

Total: /100
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1

8) Iy
15)j=0.60r-2.4
22) 869556ft

29) 18.6

36) 27.4

43)d=0.6or-1.2

50) 1640.1
57) 18

64)

71) 37
78)d=0.20r-19.2
85) 3000000000
92) 24

99)17:6

2)x=-2o0r-6
9) 20

16) $552.94
23) 3156ft
30)0.7

37) 89526in

44) (49 + 20)(q
+4)

51) 224
58) 33
65) 14
72) 230
79) 124
86) 9.74
93) 31%Y,
100) 133

3)x=-20r-6

10)j = 2.7 0or-0.9

17) $782.23

24) 3010in

31)15

38) 8482.3001646924

45) 13,21,34,

52) 233

59) 63711.499014801
66) 14

73) 1.92

80) (1s+ 1)(s+ 3)

87) 500%

94) 4.370309
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MATHS WORKSHEET

Answers:
93
11) $241.73
18) 24000
25) (Ix + 1)(x + 3)
32) 79,96,94,
39) 13

46) 39

53) 2491ft
60) 63711.499014801
67)14: 13

74)21.2

81) 24%,

88) 500%

95) 34

5) 138

12) 1.15
19) 86

26) $27.44
33) 272
40) 3714in

47)5

54) 0.8
61) -9
68) 15
75) 133
82) 34.35
89) 10.5
96) 17.53

Sr: 26062022-2723

GEMERA i

6) 41000

13) 12741.252605409
20) 207

27) 146,52

34) 18.46

41) 29

48) $349.04

55) -696.9
62) 25

69) 200
76) 133
83)1:55
90) 7.34
97) 336160

=

11-PLUS
SATS
GCSES

A0
{'”ﬂ'—)

7) 16% 0

14) $429.30
21)18

28) x=0.50r-0.3
35)q=1.20r-03
42) (j + 2)2

49) 21.3

56) 800
63)3

70) 14466.088344815
77 25

84) 17776

91) 12/,

98) 19/
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